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QUESTION 1
Click the Task button.

A Department entity is in a one-to-many relationship with an Employee entity. A developer has been asked to write a
Java Persistence query to update the set of employees who are in the department \WV\HR\\' by setting their department to
null.

Construct a query using the Java Persistence query language to perform this task. Construct a valid Java Persistence
query by dragging and dropping the syntax fragements.

Select and Place:

Syntax Fragments

SET & departiient narie [HA
WHERE & department: =l
Ernployes = UPBATE I

Constructed Gluery

place here place here place here
place here place here place hers
place here place here place here

Correct Answer:

Syntax Fragments

Constructed Guery

SET e department ['HAY
=l Emplayes = & department name
LUPBATE WHERE 1M

170-860 VCE Dumps | 1Z20-860 Study Guide | 1Z20-860 Exam Questions 2/4


https://www.pass4itsure.com/1z0-860.html
https://www.pass4itsure.com/1z0-860.html
https://www.pass4itsure.com/1z0-860.html

a VCE & PDF
== / PassditSure.com
QUESTION 2

Given the following entity class:
11.

@Entity public class Customer)
12.

@lId private int id;

13.

private transient String name;
14.

private Jav

a.

math. BigDecimal grossAmmount;

15}
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Which mapping annotation can be added to the fields of this entity?

A.

@Columntothe name field

B.

@Embeddedldto theid field

C.

@Basictothe grossAmmountfield

D.

@JoinColumnstothe grossAmmount field

Correct Answer: C

QUESTION 3

The ejb-jar file format is a contract between which two EJB role pairs? (Choose two.)

A. Deployer and System Administrator

B. Application Assembler and Deployer
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C. Bean Provider and Application Assembler

D. Bean Provider and EJB Container Provider

E. EJB Server Provider and EJB Container Provider
F. Application Assembler and EJB Container Provider

Correct Answer: BC

QUESTION 4
Which two statements are true about EJB 3.0 JIMS message-driven beans? (Choose two.)
A. The developer can use JMS messageselector declarationsto restrict the messages that the bean receives.

B. The developer can associate the bean with a specific queue or topic using the resource-ref element of the
deployment descriptor.

C. To achieve concurrent processing of more than one message at a time, more than one bean class must be
associated with the same JMS queue.

D. The developer can usetheactivationConfigelementoftheMessageDrivenannotationto specify whether the bean should
be associated with a queue or a topic.

Correct Answer: AD

QUESTION 5

A Reader entity has a one-to-many, bidirectional relationship with a Book entity. Two Reader entities are persisted, each
having two Book entities associated with them. For example, reader! has booka and bookb, while reader2 has bookc
and bookd. Which query returns a Collection of fewer than four elements?

A. SELECT b.reader FROM Book b

B. SELECT r FROM BookbINNER JOINb.readerr

C. SELECTrFROM Reader r INNER JOIN r.booksb

D. SELECTrfrom BookbLEFT JOIN b.readerr LEFTJOINFETCHr.books

Correct Answer: C

170-860 VCE Dumps 170-860 Study Guide 170-860 Exam Questions

170-860 VCE Dumps | 1Z0-860 Study Guide | 120-860 Exam Questions 4/4


https://www.pass4itsure.com/1z0-860.html
https://www.pass4itsure.com/1z0-860.html
https://www.pass4itsure.com/1z0-860.html
http://www.tcpdf.org
https://www.pass4itsure.com/1z0-860.html
https://www.pass4itsure.com/1z0-860.html
https://www.pass4itsure.com/1z0-860.html

